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Introduction 
 
 
 
 
 
I first met Mark Taimanov at the Paz E Amizade tournament in Lisbon in 1985, a small 

round robin event in which he was the invited star. Knowing we would be playing I watch-

ed his games quite closely and then noticed something strange in his game against Jorges 

Guimaraes. Hoping for a repeat of this line I opened with 1 e4 in my game against him in-

stead of my habitual 1 Ìf3 followed by 2 g3. This is how the game went. 

 
 

 
Game 1 

N.Davies-M.Taimanov 
Lisbon 1985  

 
 

1 e4 c5 2 Ìf3 Ìc6 3 d4 cxd4 4 Ìxd4 e6 5 Ìc3 a6 6 Íe2  

W________W 

[rDb1kgn4] 

[DpDpDp0p] 

[pDnDpDWD] 

[DWDWDWDW] 

[WDWHPDWD] 

[DWHWDWDW] 

[P)PDB)P)] 

[$WGQIWDR] 

W--------W 

6...Ëc7 

Taimanov thought for a few minutes before varying from the 6...Ìge7 he played in the 

Guimaraes game. 
 

 

Question: Had he rightly suspected some preparation? 
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Answer: This is very possible, not least because I varied from my usual 1 Ìf3. 

7 f4 

After 6...Ëc7 I had nothing special in mind and was making it up as I went along. This 

becomes evident over the coming moves, with Black achieving a very comfortable position. 

7...b5 8 Íe3 Íb7 9 0-0 Íc5 10 Ìf5 

This was starting to feel uncomfortable, so I decided to exchange the dark square bish-

ops. White could also play just 10 Ëd2 and then further defend the knight with Îad1. 

10...Ìce7 11 Íxc5 Ëxc5+ 12 Ëd4 Ëxd4+ 13 Ìxd4 b4 14 Ìa4 ½-½ 

W________W 
[rDWDkDn4] 
[DbDphp0p] 
[pDWDpDWD] 
[DWDWDWDW] 
[N0WHP)WD] 
[DWDWDWDW] 
[P)PDBDP)] 
[$WDWDRIW] 
W--------W 

 
 

Question: Why did Black agree to a draw? 
 

 

Answer: The position is actually quite balanced here, for example after 14 Ìa4 Íxe4 15 

Ìc5 Ìf6 16 Ìxa6 Ìed5 17 g3 Êe7 18 a3. It also seems possible that my opponent was 

okay with a rest day in which to do some sight-seeing. After his loss to Bobby Fischer in 

1971 his opportunity for travel had been severely limited. 

Afterwards I showed him what I had found, after 6...Ìge7 7 0-0 Ìxd4 8 Ëxd4 Ìc6 9 

Ëd3 Ìb4 White can play 10 Ëg3 instead of Guimaraes’s move 10 Ëd2. Taimanov was as-

tonished as Anatoly Karpov had also played 10 Ëd2 against him. He was also quite appre-

ciative that I had shown him this line rather than wander into 10 Ëg3 in a subsequent 

game. He found a few resources for Black before concluding that White had a very power-

ful initiative, also pointing out that 9...Ìb4 was not Black’s only move, and he could also 

play 9...Ëc7. 

Interestingly James Plaskett made this same 10 Ëg3 discovery over the board, when he 

played against William Hartston a few years later: 
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Game 2 
J.Plaskett-W.Hartston 

England 1986 
 

 
1 e4 c5 2 Ìf3 e6 3 d4 cxd4 4 Ìxd4 Ìc6 5 Ìc3 a6 6 Íe2 Ìge7 7 0-0 Ìxd4 8 Ëxd4 Ìc6 9 

Ëd3 Ìb4  

W________W 
[rDb1kgW4] 
[DpDpDp0p] 
[pDWDpDWD] 
[DWDWDWDW] 
[WhWDPDWD] 
[DWHQDWDW] 
[P)PDB)P)] 
[$WGWDRIW] 
W--------W 

I was surprised to see this line come up, but Hartston had been a keen exponent of the 

Taimanov Variation. At this point Plaskett went into thought and, like I did a year earlier, 

decided there was no need to defend the c2-pawn. 

10 Ëg3! Ìxc2 
 

 

Question: Did Black not see what was coming when he took the pawn? 
 

 

Answer: I think that at this stage it is hard to find other reasonable moves. The queen on g3 

prevents Black from developing his f8-bishop and unless he takes the pawn moving the 

knight to b4 will be a waste of time. 

11 Íg5! f6 
 

 

Question: With the rook on a1 and bishop attacked, does this not win material? 
 

 

Answer: Unfortunately for Black there is a sting in the tail, as given in the note to Black’s 

next move. 
 

 

Question: So should Black have done something else? 
 

 

Answer: It’s not easy to find a good alternative, for example 11...Íe7 12 Íxe7 Êxe7 
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(12...Ëxe7 13 Ëxg7) 13 Ëg5+ Êe8 14 Ëxg7 regains the sacrificed pawn with an over-

whelming position, and 11...Ëb6 or 11...Ëa5 can be met by 12 Îad1, when White’s lead in 

development gives him very good compensation for the pawn. 

12 Íf4! Êf7 

Ugly but necessary. 
 

 

Question: Why doesn’t Black just take the rook with 12...Ìxa1 - ? 
 

 

Answer: The problem is that White then has the line 13 Íh5+ g6 (13...Êe7 14 Íd6 is mate!) 

14 Íxg6+ hxg6 15 Ëxg6+ Êe7 16 e5! (threatening mate with 17 exf6!) 16...d5 17 Ëxf6+ 

Êd7 18 Ëxh8, and when the knight on a1 tries to escape with 18...Ìc2, White can just pick 

it up with 19 Ëh7+, winning back all the sacrificed material with a two pawn surplus. 

13 Íc7 Ëe8 

13...Ëe7 14 Îad1 would be similarly horrific for Black, due entirely to his lack of devel-

opment. 

14 Îad1 

Threatening Ìa4, amongst other things. 

14...b5  

W________W 
[rDbDqgW4] 
[DWGpDk0p] 
[pDWDp0WD] 
[DpDWDWDW] 
[WDWDPDWD] 
[DWHWDW!W] 
[P)nDB)P)] 
[DWDRDRIW] 
W--------W 

15 e5! 

Now threatening both Íf3 and exf6, and there’s no good defence to both of these. 

Hartston’s position rapidly goes down in flames. 

15...Íb7 

After 15...f5 there follows 16 Íf3 Îa7 17 Íb6 Îb7 18 Íxb7 Íxb7 19 Ëd3, with a fur-

ther loss of material being inevitable. 

16 exf6 Êg8 

This loses by force but there was nothing else, for example 16...gxf6 17 Íh5+ Êe7 18 

Ëd6 mate; 16...g6 17 a3 traps the knight on c2, or if 16...Êxf6 there follows 17 Íe5+ Êe7 
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18 Ëg5+ Êf7 19 Íh5+ g6 20 Ëf6+ Êg8 21 Ëxh8+ Êf7 22 Ëxh7+ followed by mate. 

17 fxg7 Íxg7 18 Íe5 1-0 

Black will lose a piece after 18 Íe5 Ëg6 19 Ëxg6 hxg6 20 Íxg7 Êxg7 21 Îxd7+ and 

taking on b7. 

 

Taimanov would later ascribe the discovery of 10 Ëg3 to ‘English chess players’, per-

haps not sure if it was the result of individual efforts or teamwork. I would meet Taimanov 

at several events after that, for example Tel Aviv 1990 and Gausdal 1992, subsequently in-

viting him to the Owens Corning tournament in Wrexham in 1997. Although we could only 

communicate via my poor German I felt a sense of kinship with him, perhaps partly be-

cause Taimanov, like my parents, was also a pianist. My mother had been an aspiring con-

cert pianist before taking lessons with the former Russian star Iso Elinson, who learned at 

the conservatoire in Taimanov’s native St. Petersburg. I was used to being around classical 

musicians, even if their efforts to involve me fell on stony ground. 

Because of this connection, when I became interested in the Sicilian Defence Taimanov 

was my first source of insight, and I carefully went through his book which was inappro-

priately titled Winning with the Sicilian (Batsford, 1991). I became interested in particular 

in how he described the evolution of the Taimanov Variation from his earlier studies on 

6...Ëc7: 

“So, in analytical work one day there was born the idea to refrain from the conventional 

early development of the queen, but instead to develop the king’s knight not on the square 

f6, where it is subject to the threat of attack, but to the more intricate and flexible e7-

square. This innovation turned out to be highly significant and enriched the traditional 

opening scheme with original strategic content. 

“In the process of practical tests and theoretical research the new idea found its adher-

ents, gradually gaining in prestige and popularity and finally, having detached itself from 

the Paulsen system, it became an independent and highly diversified opening scheme 

known to theory as the ‘Taimanov system.” (Taimanov, 1991), 

This makes it abundantly clear that Taimanov himself considered his innovation to be 

6...Ìge7 and that it was the development of the knight on e7 that distinguishes it from the 

Paulsen system with 6...Ëc7. Curiously this seems to have been ignored by many authors 

who simply apply the ‘Taimanov’ label the position after 1 e4 c5 2 Ìf3 e6 3 d4 cxd4 4 Ìxd4 

Ìc6, regardless of where Black develops his king’s knight. I have chosen to go instead with 

the inventor’s definition, that Taimanov’s innovation was the development of Black’s 

knight on e7, and the repertoire presented here will reflect this. In a couple of lines, I felt it 

necessary to give 6...Ìxd4 followed by ...Ìe7 rather than 6...Ìge7 because otherwise White 

can effectively move the knight from d4, but these two are in the Taimanov spirit rather 

than being Paulsens. 

The distinction can be a subtle one, for example the following game starts out with 

6...Ëc7 but later features the development of Black’s king’s knight to e7. It was also one of 

Taimanov’s most brilliant games: 
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Game 3 

A.Lutikov-M.Taimanov 
USSR Championship, Moscow 1969 

 
 

1 e4 c5 2 Ìf3 Ìc6 3 d4 cxd4 4 Ìxd4 e6 5 Ìc3 Ëc7 
 

 

Question: Does this not introduce the Paulsen Variation? 
 

 

Answer: Essentially it is a Paulsen, though as Black’s king’s knight later goes to e7 it has a 

Taimanov feel. Chess openings are not always easy to define, especially if they involve vari-

ous transpositions. The formal Taimanov Variation is brought about by 5...a6 followed by 

...Ìge7. 

6 Íe3 a6 7 Íd3 b5  

W________W 
[rDbDkgn4] 
[DW1pDp0p] 
[pDnDpDWD] 
[DpDWDWDW] 
[WDWHPDWD] 
[DWHBGWDW] 
[P)PDW)P)] 
[$WDQIWDR] 
W--------W 

 
 

Question: Shouldn’t Black be developing his pieces instead of this? 
 

 

Answer: In many modern openings, where the position stays relatively closed, you can of-

ten afford to develop more slowly. Here it’s difficult for White to open files, even though his 

pieces are currently more active than Black’s. 7...Ìf6 would stay solidly in Paulsen territory 

because the knight has gone to f6. 

8 Ìxc6 Ëxc6 9 Íd4 
 

 

Question: What’s the point of moving the bishop a second time? 
 

 

Answer: He is trying to make it difficult for Black to develop his kingside. 

The following year a game D.Minic-M.Taimanov, Palma de Mallorca Interzonal 1970 



 
 

 
 

 
 
Opening Repertoire :  The S ic i l ian Taimanov 

12 

varied with 9 a3 after which 9...Íb7 10 9 0-0 Ìe7! 11 Ëg4 Ìg6 12 f4 Íc5 13 Íxc5 Ëxc5+ 

14 Êh1 0-0 15 Îae1 f6!? 16 Ìe2 Îae8 17 Ìg3 Ëd4! 18 Ìh5 f5! 19 exf5 exf5 20 Ëg5 (20 

Íxf5? loses to 20...Îxe1 21 Îxe1 Îxf5 22 Ëxf5 Íxg2+! 23 Êxg2 Ìh4+ etc.) 20...Îxe1 21 

Îxe1 Ëxb2 22 h3 Ëxa3, with a clear advantage for Black. Another possibility is just 9 0-0. 

9...Íb7 10 Ëe2 Ìe7 

A Taimanov style move. By bringing the knight to e7 instead of f6, Black makes it harder 

for White to create a breach in Black’s position. After 10...Ìf6 11 Íxf6 gxf6, Black’s doubled 

pawns would make it very difficult for his king to find safety on the kingside. 

11 f4 

A surprising point of Black’s last move is that 11 0-0 can be met by 11...Ìf5! 12 Íe5 f6 

13 Íf4 Ìd4, with counterplay. 

11...b4 12 Ìb1 

12 Ìd1 was a better move. 

12...Ìg6 13 Ëf2 Íd6! 

A provocative move which threatens the f4-pawn. 

W________W 
[rDWDkDW4] 
[DbDpDp0p] 
[pDqgpDnD] 
[DWDWDWDW] 
[W0WGP)WD] 
[DWDBDWDW] 
[P)PDW!P)] 
[$NDWIWDR] 
W--------W 

14 Íe3 
 

 

Question: Can White not answer this with 14 Íxg7 - ? 
 

 

Answer: He can, but then 14...Îg8 (14...Ìxf4 is also possible) 15 Íh6 Íc5 16 Ëe2 Íd4 will 

win the b2-pawn and leave Black with tremendous activity. 
 

 

Question: Then can White not win time with 14 e5 - ? 
 

 

Answer: He can, but Black would then play 14...Íe7 threatening the g2-pawn and meeting 

15 0-0 with 15...Ìxf4. The knight is immune to capture because of 16 Ëxf4 Ëxg2 mate, 

and meanwhile Black would be threatening 17...Ìh3+ 18 gxh3 Ëh1 mate. 
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Question: So that leaves him with 14 g3 then? 
 

 

Answer: It’s playable, but Black can then play 14...e5 15 fxe5 Ìxe5 with excellent play. 

14...0-0 15 Ìd2 Îac8 16 h4!? Ëc7 

Alternatively Black could consider 16...e5, for example 17 g3 (17 f5 Ìf4) 17...exf4 18 gxf4 

Ëc7 19 Íb6 Ëb8 20 Ía7 Ëa8 21 Íe3 Íxf4!? 22 Íxf4 f5! threatening 23...fxe4. 

17 e5 

17 g3 would be well met by 17...f5!. 
 

 

Question: What about 17 f5, attacking that g6-knight? 
 

 

Answer: Besides giving the e5-square away, that could be met by 17...Íg3. 

17...Íc5 18 h5 Íxe3 19 Ëxe3 Ìe7 20 Ìc4 

White could also consider 20 Ìe4, but then Black can gain counterplay with 20...Ìf5 21 

Ëf2 f6, for example 22 exf6 Íxe4 23 fxg7 Ìxg7 24 Íxe4 Îxf4 etc. 

20...Ìf5 21 Ëd2 

21 Íxf5 is most simply met by 21...Ëxc4 (21...exf5!? is also possible) 22 Íd3 Ëd5, when 

chances remain balanced in this sharp position. 

21...Íd5 22 Ìe3 Ìxe3 23 Ëxe3 Ëc5 24 Ëg3 

After 24 Ëxc5 Îxc5 Black could then proceed with ...f7-f6! breaking White’s centre. 

24...h6 25 Îh4  

W________W 
[WDrDW4kD] 
[DWDpDp0W] 
[pDWDpDW0] 
[DW1b)WDP] 
[W0WDW)W$] 
[DWDBDW!W] 
[P)PDWDPD] 
[$WDWIWDW] 
W--------W 

25...Ëg1+ 

Heading into some mind-boggling complications. There was a solid option in 25...f5 af-

ter which 26 exf6 Îxf6 27 Îg4 Ëf8 defends Black’s king and leaves him with options such 

as an advance of his a-pawn. 

26 Êd2 
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Analysts have considered this White’s best move for decades, but engines consider 26 

Êe2 to have equal value, draws resulting after 26...Ëxa1, 26...Îxc2+ or even 26...Íf3+. The 

easiest to see is after 26...Îxc2+ 27 Íxc2 Íc4+ 28 Êd2 Ëd4+ 29 Êc1 Ëg1+, when White 

must allow the draw with 30 Êd2 because 30 Íd1 Îc8 gives Black a winning attack. 

26...Ëd4!? 
 

 

Question: Why did Black not take the rook with 26...Ëxa1 - ? 
 

 

Answer: Unfortunately that would be met by 27 Îg4!, with a winning attack. At the same 

time the engines do not favour Taimanov’s move, giving instead the line 26...Îxc2+! 27 

Íxc2 Ëd4+ 28 Ëd3 (28 Íd3 Ëxb2+ 29 Êe3 Ëxa1 30 Îg4 Ëc1+ would draw this time) 

28...Ëf2+ 29 Êd1 Ëg1+ 30 Êe2 Ëxg2+ with a draw by repetition. 

W________W 
[WDrDW4kD] 
[DWDpDp0W] 
[pDWDpDW0] 
[DWDb)WDP] 
[W0W1W)W$] 
[DWDBDW!W] 
[P)PIWDPD] 
[$WDWDWDW] 
W--------W 

27 f5 

Threatening f5-f6. 
 

 

Question: What about 27 Îg4 threatening the g7-pawn? 
 

 

Answer: Black could then play 27...Íe4! 28 Îxg7+ Êh8 when White’s attack comes to 

nought. 

27...Îxc2+! 28 Êxc2 b3+! 

The best chance. The immediate 28...Îc8+ is met by 29 Êd1 Ëg1+ 30 Ëe1 Ëxg2 31 Ëe3, 

when Black’s attack is running out of steam and there is the small matter of that sacrificed 

rook. 

29 Êd1? 

In this wild position White goes astray. It turns out that he can get away with 29 axb3! 

Íxb3+ 30 Êd2! (30 Êxb3 Îb8+ 31 Êc2 Ëxb2+ 32 Êd1 Ëxa1+ wins back the rook and 

leaves Black able to take pot-shots at White’s exposed king) 30...Ëxb2+ 31 Êe3 Ëxa1 32 f6! 
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Ëc1+ (Or 32...Ëg1+ 33 Êe2! Ëd1+ 34 Êf2 Ëd2+ 35 Íe2 etc.) 33 Êf2 Ëd2+ 34 Íe2 Ëg5 35 

Îg4 Ëf5+ 36 Êg1 Ëb1+ 37 Êh2, when White’s king finally finds safety and leaves him 

with deadly threats. 

29...Ëg1+ 30 Ëe1 Ëxg2! 31 Ëf1 

Black can meet both 31 Îf4 and 31 Ëe3 with 31...bxa2. The engines indicate that he has 

sufficient compensation for the sacrificed rook. 

31...Íf3+ 32 Êe1 

32 Êc1 Ëg5+ 33 Êb1 Ëxh4 34 Ëxf3 Ëe1+ 35 Ëd1 Ëxd1 is mate. 

32...Ëxb2 33 Îb1 Ëxe5+ 34 Êf2 bxa2 35 Îe1 

35 Êxf3 was another possibility, but White still has the problem that his king is totally 

exposed. 

35...Ëf6 36 Êg3  

W________W 
[WDWDW4kD] 
[DWDpDp0W] 
[pDWDp1W0] 
[DWDWDPDP] 
[WDWDWDW$] 
[DWDBDbIW] 
[pDWDWDWD] 
[DWDW$QDW] 
W--------W 

36...Íg2!? 

Unnecessary fireworks from Taimanov. The engines like the mundane 36...Íc6, leaving 

White to think about his exposed king and that a2-pawn. 

37 Ëg1? 

Black’s simple reply is crushing. 
 

 

Question: What happens if White takes the bishop? 
 

 

Answer: He has two ways of doing this, 37 Êxg2 being simply met by 37...Ëxh4. On the 

other hand, 37 Ëxg2 is considerably less clear as after 37...a1Ë 38 Îxa1 Ëxa1 Black has 

given up his magnificent, passed a-pawn, and this is the line that Lutikov should have cho-

sen. 

37...exf5 38 Ëd4 Ëg5+ 39 Êh2 Íe4! 40 Îhxe4 fxe4 41 Ëxe4 Ëxh5+ 0-1 

 

With the time control having been passed, White resigned this hopeless position. Black 
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can easily defend against the threat of mate on h7 and then activate his f8-rook. 

The type of counter-attacking possibilities seen here are typical of the Sicilian Defence, 

what is less usual about the Taimanov Variation is that the lines are not well charted by 

theory. Partially this is because 6...Ìge7 never developed a huge following, but it is also 

due to the early play developing more slowly and offering scope for originality. For this rea-

son, you can find Ukrainian Grandmaster Oleg Romanishin on the Black side of the Tai-

manov. 

Besides covering the actual Taimanov Variation with 1 e4 c5 2 Ìf3 e6 3 d4 cxd4 4 Ìxd4 

Ìc6 5 Ìc3 a6 followed by 6...Ìge7, I have added other lines to make it a complete reper-

toire against 1.e4. There are several Open Sicilian lines that preclude Taimanov’s 6...Ìge7, 

such as 6 Ìxc6 and 5 Ìb5. Given the popularity of Anti-Sicilian lines I have also devoted 

much of this book to handling them as Black.  

It remains for me to wish the reader good luck with your own Sicilian adventures. I rec-

ommend going through all the games at least once before playing it in friendly and then 

competition games. 

 

St. Helens, UK 

January 2022 
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Chapter Three 

Taimanov: 6 Íe3 and 6 f3 
 

 

 
 

 

1 e4 c5 2 Ìf3 e6 3 d4 cxd4 4 Ìxd4 Ìc6 5 Ìc3 a6  

W________W 
[rDb1kgn4] 
[DpDpDp0p] 
[pDnDpDWD] 
[DWDWDWDW] 
[WDWHPDWD] 
[DWHWDWDW] 
[P)PDW)P)] 
[$WGQIBDR] 
W--------W 

6 Íe3 

This and 6 f3 can come to the same thing if both moves are played, though Íe3 can also 

be played with independent significance. Another difference is that Black can meet 6 f3 

with 6...Ìge7, as in Inarkiev-Mchedlishvili (Game 15), though it might be simpler from a 

repertoire perspective to meet it with 6...Ìxd4 7 Ëxd4 Ìe7 8 Íe3 b5 as in Vallejo Pons-

Kobalia (Game 16). 

6...Ìxd4 
 

 

Question: Why does Black make this exchange so early? 
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Answer: There are a couple of lines in which White can effectively move the d4-knight away 

if Black doesn’t exchange immediately, 6 Íe3 is one of them and 6 f4 is another. In this 

position 6...Ìge7 would be well met by 7 Ìb3, for example 7...d6 (7...b5 8 a4! b4? 9 a5! 

Ìxa5 10 Ìa4 Ìxb3 11 Íb6 Ìxa1 12 Ëxa1 was winning for White in Y.Zaderman-

M.Taimanov, New York 1992) 8 Ìa4!? b5 9 Ìb6 Îb8 10 Ìxc8 Ìxc8 11 c4 Íe7 12 Îc1 Ëd7 

13 cxb5 axb5 14 Íe2 0-0 15 0-0 Ëb7 16 f4 was better for White in A.Sulypa-M.Taimanov, 

Lvov 2000. 

7 Ëxd4 Ìe7  

W________W 
[rDb1kgW4] 
[DpDphp0p] 
[pDWDpDWD] 
[DWDWDWDW] 
[WDW!PDWD] 
[DWHWGWDW] 
[P)PDW)P)] 
[$WDWIBDR] 
W--------W 

8 f4 

8 Íc4 is an aggressive move by White common to many Sicilian lines, but here it seems 

less appropriate. Black played 8...b5 9 Íb3 Ìc6 10 Ëd2 Íe7 11 0-0 Íb7 in Kabisch-Moor 

(Game 17). 

8...b5 9 0-0-0 Ìc6 10 Ëd2 Íe7 11 Ëf2 Íb7  

This brought about a typical Sicilian Taimanov middlegame in S.Polgar-M.Taimanov 

(Game 18) in which experience triumphed over youth. 
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Game 15 
E.Inarkiev-M.Mchedlishvili 

European Championship, Jerusalem 2015 
 

 
1 e4 c5 2 Ìf3 e6 3 d4 cxd4 4 Ìxd4 Ìc6 5 Ìc3 a6 6 f3  

W________W 
[rDb1kgn4] 
[DpDpDp0p] 
[pDnDpDWD] 
[DWDWDWDW] 
[WDWHPDWD] 
[DWHWDPDW] 
[P)PDWDP)] 
[$WGQIBDR] 
W--------W 

 
 

Question: As the e4-pawn is not being attacked, what is White’s idea with  

this move? 
 

 

Answer: He is presumably envisaging a set-up with Íe3 but keeps some short-term 

flexibility with his bishop. It could also be to lend the opening a new twist to get his oppo-

nent to think for himself. 

6...Ìge7 

6...Ìxd4 7 Ëxd4 b5 is arguably more flexible as Black can still bring his knight out to f6. 

I could not find any games from this position, which is surprising given that we are only up 

to move seven in a Sicilian. 

7 Ìb3 

After 7 Íe3 Ìxd4 8 Ëxd4 b5 9 0-0-0 Ìc6 10 Ëd2 Black should probably play 10...Íe7 

followed by ...0-0 so that the bishop on c8 will continue to defend d7 for the time being. As 

with 6...Ìxd4 there is a dearth of experience in this position. 

7...b5 8 Íe3 d6 

Playing ...d7-d6 generally has a low priority in the Sicilian Taimanov. Black does still in-

tend a manoeuvre that is known in the Taimanov; he is planning to bring his e7-knight to 

c8 and b6. 8...Ìg6 would have been a typical alternative, intending 9...Íe7 followed by 

10...0-0. 

9 Ëd2 Íb7 10 9 0-0-0 Ìc8 11 g4 Íe7 12 f4 0-0 13 g5 Ìb6 
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The e7-knight completes its voyage to the queenside and may now take part in action 

against White’s king. One of nice things about having a knight on b6 is that White cannot 

meet ...b4 with Ìa4. 

14 Îg1 b4 15 Ìb1 Îe8 16 Ëf2 Ìd7 17 Ì1d2 
 

 

Question: Can White launch an attack with 17 f5 - ? 
 

 

Answer: It would be a playable move, but it’s not clear that any attack would be served up 

after 17...Íf8 followed by ...Ìce5. 

17...a5 18 Êb1 a4 19 Ìc1 Ëc7 20 Ìd3 d5 21 exd5 exd5 22 f5 Íd6 

22...Ìce5 would also have been a logical move, meeting 23 f6 with 23...Íf8. 

23 g6 hxg6 24 fxg6 fxg6 25 Îxg6 Ìce5  

W________W 
[rDWDrDkD] 
[Db1nDW0W] 
[WDWgWDRD] 
[DWDphWDW] 
[p0WDWDWD] 
[DWDNGWDW] 
[P)PHW!W)] 
[DKDRDBDW] 
W--------W 

26 Îg1? 

From here until the end of the game the advantage seems to change hands every move 

or two. In such a complicated position inaccuracies can be expected, especially if the play-

ers were short of time, though this has little to do with our consideration of the opening 

moves. Apparently 26 Îg5 was the right move here. 

26...Îac8 27 Îc1 Ìc5 28 Ìf4 Ëf7 29 Ëh4 b3 30 Íh3 bxa2+ 31 Êa1 Íe7 32 Ëf2 a3 33 Íd4 

Îc6 34 b3 Íf8? 

Here 34...Íf6 was the right move with Black being well on top. White in turn misses an 

apparent chance, he should have played 35 Îcf1. 

35 Ëh4? Íe7? 

35...Ìe4 was the right move, and now White should have played 36 Ëh5. 

36 Ëf2? Íf6 37 Êxa2 Ìe4 38 Ìxe4 dxe4 39 Íf5 Îd6? 

We are approaching the final moments of this dramatic encounter. Stockfish indicates 

that 39...Ìf3 was correct, assessing the position as very good for Black after 40 Íg6 Ëf8 41 

Íe3 Íh4. 
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40 Ía1? 

Nimzowitsch wrote that a passed pawn is ‘a criminal that must be kept under lock and 

key’, but this unlocks Black’s e-pawn. 40 Íc5 would have kept Black’s e-pawn under guard 

when it’s still anybody’s game. 

40...e3! 41 Ëg3 Ìc6 42 Ìd3 Îxd3 43 cxd3?  

W________W 
[WDWDrDkD] 
[DbDWDq0W] 
[WDnDWgWD] 
[DWDWDBDW] 
[WDWDWDWD] 
[0PDP0W!W] 
[KDWDWDW)] 
[GW$WDW$W] 
W--------W 

Losing immediately. After 43 Ëf4 Íxa1 44 Íh7+ Êf8 45 Ëxf7+ Êxf7 46 Íg6+ Êe7 47 

Íxe8 White could certainly fight on for a while. 

43...Íxa1 44 Îxa1 Ëf6 45 Ëxg7+ 

45 Îab1 is met by 45...Ìb4+ 46 Êxa3 Ìc2+ followed by 47...Îa8 mate. 

45...Ëxg7 46 Îxg7+ Êxg7 47 Îg1+ Êf6 48 Íe4 Ìb4+ 49 Êxa3 Íxe4 50 dxe4 Îxe4 0-1 

 
 

 
Game 16 

F.Vallejo Pons-M.Kobalia 
Germany 2006 

 
 

1 e4 c5 2 Ìc3 e6 3 Ìge2 Ìc6 4 d4 cxd4 5 Ìxd4 a6 6 f3 Ìxd4 7 Ëxd4 Ìe7 8 Íe3 b5!  
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W________W 
[rDb1kgW4] 
[DWDphp0p] 
[pDWDpDWD] 
[DpDWDWDW] 
[WDW!PDWD] 
[DWHWGPDW] 
[P)PDWDP)] 
[$WDWIBDR] 
W--------W 

9 Ëe5!? 

Vallejo Pons finds an interesting way to bring the queen to g3. A couple of alternatives 

are worth considering: 

a) 9 Ëd2 Ìc6 10 Ëf2 Ëc7 11 0-0-0 Íe7 12 Íc5? 0-0 13 Íxe7 Ìxe7 14 Ëg3 e5 gave 

Black a comfortable game in J.Alvarez Nunez-R.Leitao, Santiago Entel Cup, 2006.  

b) 9 a4 can be met by 9...Ìc6 10 Ëd2 Ëa5 (10...b4 allows 11 Ìd5 exd5 12 exd5 Ìe5 13 

d6, when White will have a dangerous attack for the sacrificed piece) when 11 Íd3 b4 12 

Ìe2 (12 Ìd5? is no longer any good because of 12...exd5 13 exd5 Ëxd5) 12...Íc5 is about 

even. 

9...Ìc6 

In his notes to the game, Kobalia also mentioned 9...Ìg6 with the variation 10 Ëg3 Ëa5 

(10...Íe7 is also playable) 11 Íd3 b4 12 Ìe2 Íc5 13 Íxc5 Ëxc5 14 f4 offering a complex 

Sicilian middlegame fight. 

10 Ëg3 Ëa5 11 0-0-0 

There’s a good answer to 11 Íd3 in 11...g6 followed by 12...Íg7. 

11...b4! 

Provoking the following sacrifice. Black could also play 11...Íb7 but this gives White 

time to protect his a-pawn with 12 Êb1. 

12 Ìd5!  
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W________W 
[rDbDkgW4] 
[DWDpDp0p] 
[pDnDpDWD] 
[1WDNDWDW] 
[W0WDPDWD] 
[DWDWGP!W] 
[P)PDWDP)] 
[DWIRDBDR] 
W--------W 

With the a-pawn dropping this is the only show in town. 

12...exd5 13 exd5 Ëxa2 

Counterattack! 13...Ìe7 14 Íc4 would give White excellent compensation. 

14 dxc6 Ëa1+ 
 

 

Question: Can’t Black eliminate that dangerous c6-pawn with 14...dxc6 - ? 
 

 

Answer: Unfortunately, that would lose on the spot to 15 Ëc7. 

15 Êd2 Ëxb2 16 Êe1 

Kobalia thought that 16 Íd3! was better and he may well be right. My silicon friend 

then indicates that 16...d5 17 c7 Ëf6 is Black’s best defence, aiming for ...Íe7 and ...0-0. 

Another possibility is 16 Îe1 Íe7 17 Íg5 when Black can force a draw with 17...Ëc3+ 18 

Êd1 Ëa1+ etc. 

16...Ëc3+! 17 Îd2! 

The best try. Black defends easily after either 17 Íd2 Ëxc6 or 17 Êf2 Íc5 18 cxd7+ 

Íxd7 etc. 

17...Ëxc6 18 Íd3 

After 18 Îe2 Black can cold-bloodedly allow the discovered check with 18...f6! and then 

play his king to f7 next. 

18...d5 19 Îe2 

On 19 Íd4 Black defends with 19...Íe6 20 f4 f6 for example 21 Íxh7 0-0-0. 

19...Íe6 20 f4  
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W________W 
[rDWDkgW4] 
[DWDWDp0p] 
[pDqDbDWD] 
[DWDpDWDW] 
[W0WDW)WD] 
[DWDBGW!W] 
[WDPDRDP)] 
[DWDWIWDR] 
W--------W 

This time 20 Íd4 can be answered by the immediate 20...0-0-0, for example 21 Êf2 a5 

setting in motion a passed a-pawn! 

20...d4! 

Suddenly taking the initiative. 

21 Íxd4 0-0-0! 22 Ëf2 

After 22 Íe3 Black can develop with 22...g6 followed by ...Íg7 when the raking bishops 

help keep White’s pieces passive. 

22...Íc4 23 Êd2? 

23 Ëe3 was a better chance but still good for Black after 23...Íxd3 24 Ëxd3 Êb7. 

23...Ëd5! 24 Íb6 Íxd3 25 Îe5 

Or 25 cxd3 Ëxd3+ 26 Êc1 Îd5 27 Îc2+ Êb7 28 Îc7+ Êb8 escapes the checks after 

which it’s Black’s turn to ‘attack’. 

25...Ëc4 26 Îc1 Ëc3+ 0-1 

 
 

 
Game 17 

T.Kabisch-R.Moor 
Dresden 2002 

 
 

1 e4 c5 2 Ìf3 e6 3 d4 cxd4 4 Ìxd4 a6 

It’s probably as well to ignore the early moves of the actual game and instead consider 

the relevant move order with 4...Ìc6 5 Ìc3 a6 6 Íe3 Ìxd4 7 Ëxd4 Ìe7 8 Íc4. 

5 Íc4 Ìc6 6 Ìc3 Ìge7 7 Íe3 Ìxd4 8 Ëxd4  
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W________W 
[rDb1kgW4] 
[DpDphp0p] 
[pDWDpDWD] 
[DWDWDWDW] 
[WDB!PDWD] 
[DWHWGWDW] 
[P)PDW)P)] 
[$WDWIWDR] 
W--------W 

The development of White’s bishop on c4 is typical of many lines of the Sicilian. Here it 

seems less well motived, if only because Black’s e6-pawn is so securely defended. 

8...b5 9 Íb3 Ìc6 10 Ëd2 Íe7 

A year later Moor would choose 10...Íb4, presumably to sidestep any preparation. 

A.Sokolov-R.Moor, Switzerland 2003 went 11 0-0 Íb7 12 Îfd1 Îc8 13 f3 Ìa5 14 Ëd4 Íc5 

15 Ëd3 Íe7 16 e5 Ìc4 17 Íxc4 bxc4 18 Ëd2 Íc6 19 Ëd4 0-0 20 Ìe4 Íd5, ending in a 

draw after 21 Ìc3 Íc6 22 Ìe4 Íd5 23 Ìc3 (½-½). 

11 0-0 
 

 

Question: Can White castle long instead? 
 

 

Answer: This might be where Sokolov intended to improve with 11 0-0-0, though the posi-

tion looks fine for Black after 11...Ìa5 12 Êb1 Íb7 13 f3 Íc6, securely defending d7 and 

keeping the option of exchanging off the bishop on b3. 

11...Íb7 12 Îad1 

White can also play 12 f4 Îc8 13 Îad1 Ìa5 14 f5 (14 e5 Ìc4 15 Íxc4 Îxc4 was fine for 

Black in D.Krklec-W.Karrer, Munich 2005) 14...Ìxb3 15 axb3 Ëc7 16 Êh1 was a game 

L.Olzem-H.Scepanik, Calella 1994, and now 16...Íc6 looks like a good move, envisaging 

...Ëb7. 

12...Îc8 13 Êh1 

13 f4 would transpose into the previous note. 

13...Ìa5 14 Ëd4 

Hereabouts it seems that White was running out of ideas; Black can easily handle the 

temporary activity of White’s queen. 

14...f6 

14...Íf6 15 Ëa7 Ëc7 is also fine for Black. 

15 f4 Ëc7 16 f5 Ìxb3 17 cxb3 Íc6  



 
 

 
 

 
 

Taimanov:  6  Íe3 and 6 f3  

65 

W________W 
[WDrDkDW4] 
[DW1pgW0p] 
[pDbDp0WD] 
[DpDWDPDW] 
[WDW!PDWD] 
[DPHWGWDW] 
[P)WDWDP)] 
[DWDRDRDK] 
W--------W 

Defending d7 and creating a rock-solid position. White has some space and activity, but 

his pawn structure is loose. 

18 a3 0-0 19 b4 Îfd8 20 Ëd2 d5 

Opting to free his position, though this does allow White to exchange his weak e-pawn. 

20...Ëb7 would have been a good alternative, intensifying the pressure on e4 and the a8-

h1 diagonal. 

21 Ëf2 Ëb7 22 fxe6 

A double-edged decision as the pawn on e6 might prove to be a weakness. 22 exd5 exd5 

23 Ìe2 seems sounder, with approximate equality. 

22...dxe4 23 Ëg3 Îd3 24 Îxd3 exd3 25 Îd1 Îd8 

25...Íd5 26 Îxd3 Íxe6 was probably stronger, when Black has the two bishops and 

White would struggle to produce a passed pawn in this position with asymmetric majori-

ties. 

26 Íf4?! 

Missing his way. White should challenge the blockader of his passed pawn with 26 Íc5 

when 26...Íxc5 27 Íxc5 Ëe7 28 Îxd3 Îxd3 29 Ëxd3 Ëxe6 is very slightly better for Black 

because of the strength of his bishop. 

26...Íe4 27 Îd2? 

Making matters worse because rooks are notoriously poor blockaders. From d2 the rook 

cannot go to the open e-file which is his main source of possible counterplay. 

27...Íf5 28 Íc7 Îc8 29 Íd6 Îe8 30 h4  
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W________W 
[WDWDrDkD] 
[DqDWgW0p] 
[pDWGP0WD] 
[DpDWDbDW] 
[W)WDWDW)] 
[)WHpDW!W] 
[W)W$WDPD] 
[DWDWDWDK] 
W--------W 

30 Íc7 Ëc8 followed by 31...Ëxe6 would be winning for Black, so White’s attempts to 

lash out are understandable. The remainder of the game might have been played with 

both sides short of time; improvements were certainly possible. 

30...Íxd6 31 Ëxd6 Îxe6 32 Ëd8+ Êf7 33 Ìd5 Îe5 34 Ìc3 Ëa7 35 Ìd5 Îe8 36 Ëd6 Îe2 

37 Ëf4 Îe4 38 Ëg3 Îe2 39 Ëf4 Îe1+ 40 Êh2 Ëg1+ 41 Êg3 Îe5 42 Îf2 Îxd5 43 Ëc7+ Îd7 

44 Ëc5 Ëxf2+ 45 Ëxf2 d2 46 Ëxf5 d1Ë 0-1 

 
 

 
Game 18 

S.Polgar-M.Taimanov 
Women-Veterans, London 1996 

 
 

1 e4 c5 2 Ìf3 e6 3 d4 cxd4 4 Ìxd4 Ìc6 5 Ìc3 a6 6 Íe3 

The position after White’s eighth move can also arise after 6 f4 Ìxd4 7 Ëxd4 Ìe7 8 

Íe3. 

6...Ìxd4 

There is a problem with the immediate 6...Ìge7 in that White can then play 7 Ìb3 b5 8 

a4! b4? 9 a5! threatening to trap Black’s queen with 10 Íb6. For this reason, it’s better to 

exchange immediately on d4. 

7 Ëxd4 Ìe7 8 f4  
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W________W 
[rDb1kgW4] 
[DpDphp0p] 
[pDWDpDWD] 
[DWDWDWDW] 
[WDW!P)WD] 
[DWHWGWDW] 
[P)PDWDP)] 
[$WDWIBDR] 
W--------W 

8 0-0-0 b5 9 Ëd2 Ìc6 10 f4 would transpose into the position after White’s 10th move. 

8...b5 9 0-0-0 

9 Ëb6 forces the exchange of queens, but generally speaking this is not a bad thing for 

Black in the Sicilian. N.Hoiberg-M.Taimanov, Copenhagen 1996 continued 9...Ëxb6 10 

Íxb6 Íb7 11 Íd3 Îc8 12 0-0 Ìc6 13 a3 Íe7 14 Îad1 b4 15 Ìb1 g5!? 16 f5 bxa3 17 Íxa3 

Ìe5 when Black already had the more comfortable game. 

9...Ìc6 10 Ëd2 Íe7 11 Ëf2 

Taimanov has had this position several times, for example: 

a) 11 Íe2 Ëa5 12 e5 (12 Êb1 b4 13 Ìd5 exd5 14 exd5 b3! forces the queens off) 12...b4 

13 Ìe4 Ëxa2 14 Ìd6+ Íxd6 15 Ëxd6 Ëa1+ 16 Êd2 Ëxb2 17 Íc5?! (17 Êe1 f5!? 18 Íh5+ 

g6 19 Íf3 Êf7 isn’t clear, but certainly not worse for Black) 17...Ëc3+ 18 Êc1 b3 19 Íd3 

Îb8 was winning for Black in A.Martin Gonzalez-M.Taimanov, Montilla 1977.  

b) 11 g4 Íb7 12 Îg1 Îc8 13 Êb1 Ìa5 14 Ëd4 0-0 15 e5 was Xie Jun-M.Taimanov, Lon-

don Wom-Veterans 1996, and now 15...Íf3 would have been much stronger than the im-

mediate 15...Íc5, with Black taking the initiative.  

c) 11 Íd3 may be White’s best when Taimanov would probably play 11...Íb7 12 Ëf2 

and now 12...0-0 rather than the 12...d6 13 Êb1 Ëc7 14 h4 Îc8 15 Íb6 Ëb8 16 Îh3 of 

T.Tolnai-A.Felsberger, Velden 1994. 

11...Íb7 

Black needs to be aware of the threat of Íb6, but he could also consider 11...0-0 12 Íb6 

Ëe8  

12 g4 

This traditional plan of attack seems less effective here, and meanwhile Black’s play on 

the other flank is proceeding apace. 12 Êb1 might have been a wiser choice. 

12...0-0 13 Íg2 Ëc8 
 

 

Question: That move looks odd, what’s Black’s idea? 
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Answer: He wants to play ...Ìc6-a5-c4, but the immediate 13...Ìa5?? is bad because of 14 

Íb6. 

14 Íc5 

The prophylactic 14 Êb1 might have been a better idea. 

14...Íxc5 15 Ëxc5 Ìa5!  

W________W 
[rDqDW4kD] 
[DbDpDp0p] 
[pDWDpDWD] 
[hp!WDWDW] 
[WDWDP)PD] 
[DWHWDWDW] 
[P)PDWDB)] 
[DWIRDWDR] 
W--------W 

Offering White an endgame in which he has some activity and space but Black’s pawn 

structure is more compact. In the current situation White’s best option is to accept and 14 

Íc5 was quite committal in this respect. 

16 Ëxc8 

On 16 Ëd6 Black does not need to defend the d7-pawn but can instead proceed with 

16...Ìc4! 17 Ëxd7 Ìe3, placing White in deep trouble. The engine wants to give up the 

exchange immediately with 18 Íf3, and this is certainly better than 18 Ëxc8 Îaxc8 19 Îd2 

Ìxg2 20 Îxg2 b4 etc. 

16...Íxc8 

The engine actually prefers to sacrifice a pawn with 16...Îaxc8, for example 17 Îxd7 b4 

18 Ìe2 b3 19 axb3 (Or 19 Ìc3 bxa2 20 Ìxa2 Ìb3+ 21 Êb1 Ìc5 22 Îd4 f5!) 19...Ìxb3+ 20 

Êb1 Ìc5 21 Îd4 f5!, regaining the pawn with approximate equality. Personally, I like Tai-

manov’s choice, although his pieces are passively placed his pawn structure is very solid; 

over time he can improve his position and look to exploit White’s pawn weaknesses. 

17 Îd3 

17 e5 Îa7 18 Ìe4 might have been better after which Black would start to unravel with 

18...Îc7 followed by 19...Íb7. White’s position may look nice because of the space advan-

tage, but Black has the more solid pawn structure, can defend his only weakness (d7) and 

look to gradually improve his position. 

17...Îa7 18 Îhd1 Îc7 19 b3 

After 19 e5 Ribli advised 19...f6 20 exf6 Îxf6, though it’s also worth considering 19...Îd8 

followed by bringing the king to e7. Black’s position is very solid, and he can afford to 
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spend time unravelling. 

19...f6 20 h4 Ìc6 21 a4? 

The ongoing series of active moves will be the cause of White’s undoing, this move 

weakens White’s king position. 21 Êb2 would have been a good consolidating move, 

though Black might then consider 21...g5!? to fight for the e5-square. 

21...Ìb4! 22 Îh3 bxa4 23 Íxa4 Íb7 24 Îd4 a5 25 Íf1 Îfc8 26 Êb2 d5! 

This powerful central blow leads, at the very least, to the gain of material. 

27 exd5 

White’s best try was 27 Íb5 after which 27...e5 28 fxe5 fxe5 29 Îxb4 axb4 30 Ìxd5 

Îxc2+ 31 Êb3 Êf7 leaves Black the exchange but with some play left in the position. 

27...Ìxd5 28 Ìb5 Îxc2+ 29 Êb3  

W________W 
[WDrDWDkD] 
[DbDWDW0p] 
[WDWDp0WD] 
[0NDnDWDW] 
[PDW$W)P)] 
[DKDWDWDR] 
[WDrDWDWD] 
[DWDWDBDW] 
W--------W 

29...Ìxf4! 

This neat combination wins a second pawn.  

30 Îc3 
 

 

Question: What happens if White plays 30 Îxf4 - ? 
 

 

Answer: There follows 30...Íd5+ 31 Êa3 Îa2 mate. 

30...Î2xc3+ 31 Ìxc3 Ìd5 32 Ìe4 Ìe3 33 Ìd6 Îd8 34 Íc4 Íd5 0-1 

 




